
  
ORANGE YIELD TEST 

 

Item:  
ORANGE 

AP Weight (oz): 
  

EP Weight (oz): 
  

Product Loss (oz): 
  

AP (Purchase) Price: 

$ case ______ 

$ each_______ 

$ #__________ 

Waste %: 
  

Yield %: 
  

EP Cost per #: 
  

 

Formulas 

    
    
     
   
      

 

Oranges (Navel) 
$14.07/ case 
88 in a case. 
1 case weighs 40# 

� Product Loss = AP Weight - EP Weight 
� Waste % = Product Loss/AP Weight 
� Waste % = 100% - Yield % 
� Yield % = 100% - Waste % 
� EP Weight = AP Weight * Yield % 

(Remember to use decimal version of % when calculating) 
� EP Cost per # = AP Price / Yield % (Remember to use decimal 

version of % when calculating) 

 

 

 


